2018 (A) - A

3 SSC PART-1(9™ CLASS) 1 B
GENERAL SCIENCE ~ (GROUP-I) [Uguegr D) F U2
TIME ALLOWED: 2.10 Hours SUBJECTIVE -&i.» &9 103
MAXIMUM MARKS: 60 604

NOTE: - Write same question number and its part b o % 4@” Sz é&u /,z;,! /j Ji i 44(‘}‘ P

number on answer book; as given in the question paper.

SECTION-1 sl .2

2. Attempt any six parts. 12=2x6 ez limge i Ay
(i) What is meant by Botany? fesi el @)
(i1) Write down the names of two books of Jabir-bin-Hayyan. Sl ol G
(iti) Write down the names of any two branches of Physics. _u,:.,d rt&uiﬁud S Gib
(iv) Define Chemistry. LGS Gy

What are the names of four elements of life WL o e
V i St L Al L0 L P Lldy ()
v) according to Greek-Philosopher theory? Bl J:- bl FLpmdy

(vi) Define Allotropy. L et AR G
(vil) Why does ice float on the surface of water? "/.J Fu. zJL....i/ (vii)
(viii) Define Respiration. _u‘/ - fJLf = s (viii)
(ix) Write down any two uses of Rare Gases. u""g u..«UWm:..d:( [_'urf = (Gx)
3. Attempt any six parts. 12=2x6 &z linge §I 34
(i) Give examples of Anabolic and Catabolic chemical reactions. _cf.Ju‘Jtﬂ-J S0 bl @
(i) What is meant by Assimilation? el /Lf,.-_gy’-‘l“r o Gi)
(ili) What are Antibiotics? Write down their two examples. g Aendusuy FAG Gid
(iv) What are the sources of fats? Write down their names. .y er Lo tupey ,fé; ,,,J:(f-’ Gv)
(v) Describe the Chemical Composition of Nucleotide. FEh e )
(vi) What is Night Blindness? Give ifs reason. «éub J:JJI*‘LL@"y bt (vi)
(vii) Write down the sources of Vitamin ‘E’. L F c’,wL E'e ks (vi)
(viii) Describe two changes which occur in old age. BE AP S [ sty (viii)
(ix) Describe two functions of Carbohydrates. - eein Z ALK ()
4. Attempt any six parts. 12=2x6 i felzlin ge$ af
(i) What is Drug? e eSS D
(ii) Define Narcotics. gl Sk G
(iii) What is Delerium? Sei s ik Gid)
(iv) What is Sterilization? Sest i, =270 (Gv)
(v) What are the symptoms of Dengue Fever? “wy’utmfjiﬁu‘-; )
(vi) What is Tetanus? el sy (e ™ (o)
(vii) What is meant by Chlorofluorocarbon? S /;‘L_r(;-u',*(u}’u:( (vii)
(viii) Define Recycling. Uy A B i)
(ix) Write down two benefits of Wildlife, e tinl e 0
SECTION —1I ("2 .4
NOTE: - Attempt any three questions. ..g.,{d .&Uﬁﬁaﬂlru&: .;.J:( -2
5.(a) Describe the important contribution of Tbn-ul- 4 St =i I)T|J A nd L2805 (h)as
Haitham in the development of science.
(b) Write down a note on Nitrogen Cycle. 4 -u:"g Liy KR F ()
6. (a) Explain Carbohydrate Metabolism and Fats Metabolism. 4 Szl r}’:fi‘f:u‘? J;ur:);ft'»:..'.cfi’i,,{;s’ ()6
(b) What is Genetic Engineering? How can it help in FA b I PSS SR ()

fe (Casa e LS
-__,;H,«mwp,.ru.) 7

improving agriculture and livestock?

7. (a) Write down a detailed note on Carbohydrates.
(b) Describe the Vitamin ‘B’ Complex in detail. -iul,c,&“’ u,_a*u’ dots ()
8. (a) Write down a note on Whooping Cough. o g i s ()8
(b) Write down different methods of protection from germs. 4 A p i A::If::.( 12 (<)

9. (a) Write down causes, effects and measures 4 u“’g ST NI A A RS S N § J:;Jndi (#)-9
of controlling Water Pollution.

(b) Write down the use of Fossil Fuels and its 4 __»f L (i3, UnEiaden £I4F5 ()
environmental effects. :

S S S
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GENERAL SCIENCE (GROUP-ID)

TIME ALLOWED: 2.10 Hours SUBJECTIVE .-l .o 55,1015
MAXIMUM MARKS: 60 604 S

NOTE: - Write same question number and its part ; 3
gumber on answer book, as given in the question paper. Bt 4y SR A2 A ir G4 ¥z d

SECTION-1 sl .2

2. Attempt any six parts.

12=2x6

Ef el lizige 32 Ay

(1) What is Physics? Write down its any two branches. -gf’_grt‘ﬁu_étf-»ddf JJWQLA'/ 7 ®
(i) ‘Write two contributions of Ibn-ul-Haitham. i fe ol Gi)
(iii) What is the difference between Geo-Physics and Astro-Physics? T.‘:_J)y’ut/ Py T u S P Gid)
(iv) What is meant by Science? P e Gv)
(v) What is meant by Geography? Ce edle
(vi) Write down two uses of Graphite. EDY 5= Zoaw)S (v
(vii) What is Carbon Cycle? el e gk (i)
_(viii) Describe two properties of water. S elkor® L (viii)
(ix) Write down two uses of Phosphorus. ~ZE el Lt (x)
3. Attempt any six parts. 12=2x6 &2l ge 353 A )y
(i) What is meant by Substrate? PRy g )
(i) Write down any two functions of blood in human body. - s Luﬁuﬁ‘(’- v Gi)
(iii) What is Gene? fe Ve (i)
(iv) What is meant by Protein Metabolism? Seil /.lfr.:.r,"‘:fi::wés/, (iv)
(v) Whatis DNA? Selletefi-8 (W)
(vi) Describe the role of carbohydrates in living organisms. SN TS A Susrsle (i)
(vil) Define Endocrine System. S {"'/ Skt (vii)
(viii) Write down names of two hormones secreted by pancreas. _‘_thf_;:mg» A_ué_:re.sh};;gﬁ (viii)
(ix) What is the function of iron in blood? te SRty ()
4. Attempt any six parts. 12=2x6 &Lz g af iy
(i) Write down the names of two diseases caused by virus: S e Lugdends e s (0
(if) What is meant by nervous break down? Sl L e pititayss (i)
(111) What is the difference between Drug and Medicine? i‘.;...u"),tf utc)f:‘ws!_ﬁi (iii)
(iv) What is meant by Pain Killers? S pe i K Gv)
(v) Write down the causes of Dengue Fever. -u:’ﬁ Iy s ()
(vi) What is meant by Earth’s Atmosphere? sl e ULt (i)
(vii) What do you know about Thermosphere? S TRl oy 7 (vid)
(viii) What is meant by Pollution? Sesl 39T (i)
(ix) Define Recycling. gy S A (Gix)

SECTION —-1I r»,-"

NOTE: - Attempt any three questions.

5. (a) What is meant by technology? Give any example

Eifelrlatrf el e

4 _ZJedSUGNLSESAS e p e GHE ()5

of ancient technology. - _

(b) I‘JVcléitrilgeﬁilﬁ ggg{i)lrtance of water in our lives? 4 LSSl S et Sesdia $d ()
6.(a) %thgr;; Sﬁmegai‘gﬁ?gle is played by 4 .z Son AN i 1St est p e i ()6
(b) xgaéggﬁsgggggs? Also explain Penicillin i —u:/-'-«‘uuf‘/':‘d'-:ﬁf-ﬂw - lv:‘?q_n/y’aufﬂ@! e
0 S LR g0 Dot b5 s Lo s e
(b) What do you know about proteins? 4 SE e TR ALy (L)

8. (a) Write down different sources of spreading of germs. 4 E LB L L 17 ()8
(b) Write a note on round worms. 4 LAy pnkils ()

9. (a) Describe two sources of air pollution and also
give two suggestions to prevent it.

(b) Discuss the effects of population increase on 4
environment.

4 .._évg:;;,v" »(Jr L‘i-BCCJIJ)]::!,ﬁ”JJJJ!’TJL"; (<=9
-JUM.{,J.:‘.«I?L;J?LLLLHJQ’JI,T (<)

43 -2018(A)-15500 (MULTAN)



PAPER CODE 2018 (A) o Gh A
NUMBER: 1091 -

SSC PART-1(9™ CLASS)
GENERAL SCIENCE  (GROUP-I) (g D 2
TIME ALLOWED: 20 Minutes OBJECTIVE u«’ 5 /v » L2023
MAXIMUM MARKS: 15 154

-::_..{l_-'i,—::/fcﬂufrgﬁhﬂ}i;w&UyLvlzw;:aﬁu;}l:éérsabﬁdlrﬁ.:;QVQLR-;@.’*L&,J D»FCrBtAaUJ’.',:nggZ-Jifﬁ-h‘-‘-f}
*L,;f;d’;fﬁ:.um;_;.;,,liruf_i’z.L_.g:u.:"/:féfu:_waé.f,;.g;.}u-fmﬁw.._,izuf,i ;ﬁm:ﬂg{z’_/r{;.:-fgi.f{fu:ffJu.vL}

Note: You have four choices for each objective type question as A, B, C and D . The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank, No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.,

Q.No.1 LAy
(1) The branch of science related to mechanics, heat, light e AP e TP 7 )
and sound is:
(A) Chemistry ¢ /34’/ (B) Astronomy & (C) Physics /7 (D) Mathematics (L
(2) According to the latest measure, the earth’s radius is: e Bt LS e ke ()
(A)6338km #6338 (B)6353 km 24 6353 (C)6553km XK 6553 (D) 5653 km #5653
(3) One of the hardest substance in universe is: e Ll AU Z T Jet¥ 3)
(A) Diamond 1 4 (B) Graphite .’.«’-'.é{/r (C) Silicon B (D) Iron ¢
) Density of water at 0 C° is: :q.de”.' -5&}&_40 C? (@
(A) 0.918 g/em’ (B) 1.00 g/em’ (C) 0.9990 g/cm’ (D) 0.9288 g/em’
(5) Fats are formed by the combination of: 7u;?wu.’iu"‘3 & LS (5)
(A) Glucose + Vitamins #ts+345¥ (B) Amino Acids + Water Jgﬂi-.—:uf U
(C) Glycerol + Fatty acid ¥+ 2 (D) Carbon dioxide + Water (y+#1/Tdezs
(6) Penicillin was discovered in the year: :g.db(é.n;ﬁg;:cr:l’:f‘f (6)
(A) 1828 (B) 1918 (C) 1920 (D) 1928
(7) is used to make microprocessor of computer. e kel Li b o AL 2vd ()
(A) Calcium 2 (B) Magnesium ¥ (C) Lime Stone v#-#y (D) Silicone w4
(8) The disease caused by deficiency of insulin is: e q—C&‘ Sk u’d‘, Ju:! i ()
(A) Diabetes %15 (B) Goiter % (C) Anemia L/ (D)T.B. -4-d
(9) The disease caused by the deficiency of vitamin ‘C’ is: Iic.est:._{?:u,(b/djhg{_ﬁ d’ Juets (9)
(A)Rickets o,  (B)Night Blindness # %1% (C) Seurvy ¢4 (D)Flu #
(10) The drink which can be used more in hepatitis is: e ISt i E b (10)
(A) Water &5 (B) Juice u=z (C) Sugar cane juice U2¢ZL (D) All these iz
(11) The disease caused by a virus is: e dlgddnigdslgns (11)
(A) Aids 1 (B) Diphtheria |/ (C) Tetanus ~ (D) Cholera 1§
(12) Diazepam and Lorazepam are the examples of? -u}uﬁjc‘hJ (g.ii.»'»!(g,iéb' (12)
(A) Hallucinogens s2#s# (B) Pain killers 1£e#  (C) Narcotics 5k (D) Sedatives J%4
(13) Ozone forms a protective layer in: e bU1e Qe P Ut 0 oo (13)
(A) Troposphere <> 40/ (B) Stratosphere /% > (C)Mesosphere 45 (D) Thermosphere o
(14) Pakistan’s population in 1998 was: 1 199864 TSel (14)
(A) 130.5 Millions41 uélé:s.ﬁ,c" (B) 130 Millions 2552  (C) 140 Millions /w2 (D) 150 Millions Js./v.4
(15) The disease caused by smog is: :d‘:—dﬂ_’;d’h}—ﬁ{ﬁ&j ¥ (15)
(A) Heart Us (B) Kidneys $us».” (C)Lungs Jusz™ (D) Liver 2
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PAPER CODE 2018 (A) ~ A
NUMBER: 1093 % 9/7
SSC PART-T1(9™ CLASS) -
GENERAL SCIENCE  (GROUP-I) U2 Sz
TIME ALLOWED: 20 Minutes OBJECTIVE Lﬁ" P 22023
MAXIMUM MARKS: 15 1548

el Aa L /M3 I L e ne s d ezl Ly radbd - s DACBANZ Edp L iy fissd
-U,I;Jfﬂh:fﬂ"’ {)34‘.»:”)‘&;!-?7('— igL)u-:‘;ﬁ;J:(Jn:«;ﬂJ»J_..f.:.id-};b-{ﬂ.r!‘jw?!ﬁufj pﬁ:.;:‘;fi_./’{/&ﬂi_&}(U)}'IJME.?

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number, Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /‘ Jlr
(1)  One of the hardest substance in universe is: tekle fusgeier f ek (1)
(A) Diamond |« (B) Graphite <43/ (C) Silicon wA&~ (D) Iron ¥
& Density of water at 0 C° is: e 3483140 C° @
(A) 0.918 g/em’ (B) 1.00 g/cm® (C) 0.9990 g/em’ (D) 0.9288 g/cm’
(3) Fats are formed by the combination of: wmwz‘.-ﬂ & LJud (3)
(A) Glucose + Vitamins »bs+4F (B) Amino Acids + Water Jj;ﬁia!}f' U
(C) Glycerol + Fatty acid 15+ s & (D) Carbon dioxide + Water (i+51/70u
(4)  Penicillin was discovered in the year: e KLz ()
(A) 1828 (B) 1918 (C) 1920 (D) 1928
(5) is used to make microprocessor of computer. e b1 Lot BAL 2ed (5)
(A) Calcium 2% (B) Magnesium £  (C) Lime Stone ws#y (D) Silicone o
(6) The disease caused by deficiency of insulin is: et +Jz i UJL( JU:I i (6)
(A) Diabetes (3 (B) Goiter % (C) Anemia Lt D) T.B. -J-d
(7)  The disease caused by the deficiency of vitamin ‘C’ is: :cl:_a:«‘aﬁ'*u,-r eSS s
(A)Rickets o*,  (B)Night Blindness (%% pos (C)Scurvy s~ (D)Flu
(8)  The drink which can be used more in hepatitis is: iUl ne il I E b (8)
(A) Water 4 (B) Juice 2 (C) Sugar cane juice J2§L (D) All these (17,
(9)  The disease caused by a virus is: e heinigd 5L A (9)
(A) Aids 4 (B) Diphtheria | # (C) Tetanus ~< (D) Cholera 1/¢
(10) Diazepam and Lorazepam are the examples of: wared rl;—..}l;).ulﬂz.}(jﬁ (10)
(A) Hallucinogens %~  (B) Pain killers ;4 (C) Narcotics ¥k (D) Sedatives J#i-
(11) Ozone forms a protective layer in: :f.(tb’wq_ﬂl;.._iw(?’%ﬁ.f ka"?:Ju”-ruml an
(A) Troposphere ~*ys/ (B) Stratosphere <% » (C)Mesosphere /2 % (D) Thermosphere />y #
(12) Pakistan’s population in 1998 was: 1 199860 TS ] (12)
(A) 130.5 Millions#Ugy5/52  (B) 130 Millions 4.5 2 (C) 140 Millions J+/ug (D) 150 Millions 4./54
(13) The disease caused by smog is: e el Sr (13)
(A) Heart SU» (B) Kidneys (un/ (C) Lungs Jus2% (D) Liver (/%
(14) The branch' of science related to mechanics, heat, light . ‘artfﬁ/t‘}d' Wl P ;;,T,,nfm@l,?u@? (14)
and sound is:
(A) Chemistry (§ < (B) Astronomy =&  (C) Physics % (D) Mathematics (°}/
(15) According to the latest measure, the earth’s radius is: e Pt i L P o3 awe (15)

(A)6338km ¥ 6338 (B)6353km #£6353  (C)6553km < 6553 (D) 5653 km ¥ 5653
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PAPER CODE 2018 (A)

A Ju
NUMBER: 1095 244

L
SSC PART-I(9™ CLASS) /i
GENERAL SCIENCE  (GROUP-D) (g DS U2
TIME ALLOWED: 20 Minutes OBJECTIVE U‘{/’»"} A0
MAXIMUM MARKS: 15 154F

LI Es S SN S L e fs s E b sz L iy MQ(QL-?_@{&,J D;,ic:BsAa;rﬁﬁxtgédlrﬁ-&)
..L{)’;er,q.:.Ulr/,g;;glrJJ_fL@L:u.'.‘;ﬁidfuﬁ.z.z:‘gfé./::,ia.}b-b’m:"}w?l:mfj.L,ﬁ:-;:‘Jé..f.ﬁ/.bFLL./{ S Us Al

Note: You have four choices for each objective type question as A, B, C and D . The choice which you think is correct, fill that Bubble
in front of that question number, Use marker or pen to fill the Bubbles. Cutting o filling two or more Bubbles will result in zero mark in

that question, Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A
(1) Penicillin was discovered in the year: =-§-JVFLK:-5L»L'JLH‘ (1
(A) 1828 (B) 1918 (C) 1920 (D) 1928
() is used to make microprocessor of computer. e bnJeiid Li s sp P\l rd @
(A) Calcium (:’-'-’ (B) Magnesium (.?‘-'? (C) Lime Stone y»~¢y (D) Silicone Brg
(3) The disease caused by deficiency of insulin is: o %@%g@mr?uf S 3)
(A) Diabetes %13 (B) Goiter % (C) Anemia L& (D) TB. 34
(4) The disease caused by the deficiency of vitamin ‘C” is: :q_u:g.&“-,-e'ifdﬂf_'-f' d/ S @)
(A)Rickets o7  (B)Night Blindness (% (C) Scurvy ¢+ (D)Flu 4
(5) The drink which can be used more in hepatitis is: 1»7_7,-/"' I 2Ol tes (5)
(A) Water &g (B) Juice vz (C) Sugar cane juice uz¢L (D) All these Vs
(6) The disease caused by a virus is: e Sigddni g & 5L (6)
(A) Aids 4 (B) Diphtheria | [f’" 3 (C) Tetanus u"’-' (D) Cholera 1§
(7) Diazepam and Lorazepam are the examples of: e rg_;u;b:lrg.)dﬁ n
(A) Hallucinogens 2#s (B)Painkillers £  (C) Narcotics 7t (D) Sedatives %t
(8) Ozone forms a protective layer in: PR PR T S Ao ®
(A) Troposphere #*ys/ (B) Stratosphere /%~ (C)Mesosphere /12 (D) Thermosphere #*» %
(9) Pakistan’s population in 1998 was: f 19988t TS et (9)
(A) 130.5 Millions#¢44/5¢  (B) 130 Millions .57 (C) 140 Millions %/wz (D) 150 Millions %s./e
(10) - The disease caused by smog is: e Bl lnlgeSs (10)
(A) Heart §Us (B) Kidneys (u»/ (C)Lungs Sus#® (D) Liver &°
(11) The branch_ of science related to mechanics, heat, light e rWU‘*JJ"’VJw 3Tl i ;‘L/@:? (11)
and sound is:
(A) Chemistry (% (B) Astronomy =46  (C) Physics 7 (D) Mathematics L/
(12) According to the latest measure, the earth’s radius is: re B a0 LSeatre (12)
(A)6338km < 6338 (B)6353km #F63s3  (C)6553km X¥6s53 (D) 5653 km ¥ 5653
(13) One of the hardest substance in universe is: ekl EUIZ L 7 Sty (13)
(A) Diamond 1 = (B) Graphite u.:f’la:_f (C) Silicon u:..a" (D) Iron |
(%) Density of water at 0 C° is: e g 88140 C° (19)
(A) 0918 g/em® (B) 1.00 g/em® (C) 0.9990 g/em® (D) 0.9288 g/cm’
(15) Fats are formed by the combination of: :L,,c!uq,gz';.u‘? e d Lkl (15)
(A) Glucose + Vitamins y'.:;-i—;f;f (B) Amino Acids + Water J};—Hi».’b': b
(C) Glycerol + Fatty acid 4¢3+ & (D) Carbon dioxide + Water Jy'f VT ek

41 (0BT W )-2018(A)- 9200 (MULTAN)




NUMBER: 1097

PAPER CODE 2018 (A) 204 A v
/ L

SSC PART-1(9™ CLASS) /
GENERAL SCIENCE  (GROUP-1) (e D S
TIME ALLOWED: 20 Minutes OBJECTIVE 7 > 220,235
MAXIMUM MARKS: 15 15sA4F

et A e S Aot 30 Qe Lo per e L bs i iy 143602 s DACB A2 M e Ly faided

""b':/""J}F/f‘-"-‘U”’~;»,’{«.Jiftf!-bii-tﬁ!djﬁ}dfu:.:d)’d’i./é‘é /—-/’b-b‘)’f”‘sw..-.-i;?uf)L_,C&JKJL;{)’&QL;{IU:}UMLJ
Note: You have four choices for each objective type question as A, B, Cand D . The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filied. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 R
(1)  The disease caused by deficiency of insulin is: e ase c:-d' ¥k ued’ S ()
(A) Diabetes (B) Goiter % (C) Anemia Le (D) TB. -¢-d
(2)  The disease caused by the deficiency of vitamin ‘C’ is: :cﬁ:..u:e:..ﬁ?‘gfd;bu)' S5 @)
(A)Rickets 2  (B)Night Blindness (%% uox (C)Scurvy s~ (D)Flu #
(3)  The drink which can be used more in hepatitis is: et sl iU b (3)
(A) Water (} (B) Juice Uz (C) Sugar cane juice 2L (D) All these (174
(4) The disease caused by a virus is: e Sledsdnind sy (4)
(A) Aids 4 (B) Diphtheria | 5 (C) Tetanus ~+ (D) Cholera 1J¢
(5) Diazepam and Lorazepam are the examples of: el ri;-..:'fu’m,'l,f.iéii €))
(A) Hallucinogens ;2ss (B) Pain killers J;‘g‘# (C) Narcotics <ot (D) Sedatives Jjs%i~
(6) Ozone forms a protective layer in: :;..rt(m;;.&&..jwf PSS u"f st (6)
(A) Troposphere ~*y:/ (B) Stratosphere /%> (C)Mesosphere iz (D) Thermosphere v #
(7)  Pakistan’s population in 1998 was: W r1998HTduet, (@)
(A) 130.5 Millions4 1 uép:fn;" (B) 130 Millions .37 (C) 140 Millions 2:./w»z (D) 150 Millions %/s.4
(8) The disease caused by smog is: e ledhdnga S (8)
(A) Heart §Us (B) Kidneys (usn/ (C) Lungs ($usa® (D) Liver 4
(9) The branch_ of science related to mechanics, heat, light s (WCA?JL/""VJWL T 1se ,——‘JG? (9)
and sound is: :
(A) Chemistry (4 (B) Astronomy | (C) Physics /7 (D) Mathematics (L
(10) According to the latest measure, the earth’s radius is; :.;_/x"'..éaib’od’)&f&fzif ks Fae (10)
(A) 6338 km ~¥6338 (B)6353 km <4 6353 (C)6553km X 6553 (D) 5653 km < 5653
(11) One of the hardest substance in universe is: ekl AU B 7Y Jek¥ D)
(A) Diamond | & (B) Graphite s/ (C) Silicon & (D) Iron ¥
(12) Density of water at 0 C° is: :;.Jnd"'lﬂ&g;;ﬂ " )
(A)0.918 g/em® (B) 1.00 g/em’ (C) 0.9990 g/em’ (D) 0.9288 g/em’
(13) Fats are formed by the combination of: el R e Lo h (13)
(A) Glucose + Vitamins #bst5/¥ (B) Amino Acids + Water Ji-+5425y
(C) Glycerol + Fatty acid a5+ Js & (D) Carbon dioxide + Water &Lr + 0SBk
(14) Penicillin was discovered in the year: :;.Jv(i.n.:.-"l;»u:"'i‘ (14)
(A) 1828 (B) 1918 (C) 1920 (D) 1928
(15) is used to make microprocessor of computer. e b Lt oy L2k (15)
(A) Calcium 2% (B) Magnesium ¥ (C) Lime Stone w-#s (D) Silicone w2

41 (Ob(FTYEIT 77 )-2018(A)- 9200 (MULTAN)




| N |
PAPER CODE 2018 (A) nC A
NUMBER;: 1092 &

SSCPART-I1(9™ CLASS)
GENERAL SCIENCE  (GROUP-II) (-2 Sz
TIME ALLOWED: 20 Minutes OBJECTIVE (s .» 2220 by
MAXIMUM MARKS: 15 15:4F

LUQ‘&JALDFLLL’(F}}}WL}.‘uv'L-T-'.r?a-':/ﬂ;.u:UJ.;JJéf‘_“-J&V&dlfﬁf?dsldfﬁ..uﬁiE;JDJJIC!B'A‘:-{:U?-‘fJ?G(;J'!’ﬁ-&-{')

LI L petir i e Koo A o S S e s BnirP ez i eSS LM S s iinls
Note: You have four choices for each objective type question as A, B, Cand D .The choice which you think is correct, fill that Bubbl'c
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 ..1/.'}dl}’

0, Considered to be the first expert of laws of Reflection e Holl o KT Lo o Jﬁ,_@le.J ()
and Refraction: T

(A) Al-Bairuni &1 (B) Ibn-ul-Haitham A+ (C) Bu-Ali Sina tx(¥% (D) Dr. Abdus-Salam (11.# 215

2) In Geography dii:ferent parts of are e eUani S Suipal £ LFLWS 2 ©)
marked geographically.
(A) Earth ¢2; (B) Agriculture =15 (C) Sun s (D) Medicine 15
(3) The content of Magnesium in plants vary from: PRI Gos uny (3)
(A) 0.2 t0 0.4% (B) 0.1 t0 0.4% (C) 0.01 to 0.4% (D) 0.3 to 0.4%
4 The proportion of oxygen in air by volume is: :g_tn(f iy (7 T (@)
(A) 20% (B) 21% (C)22% (D) 23%
(5) Fats are digested: :uzé'.nlr“."‘u‘z-’-‘ (5)
(A) In Large Intestine (2=:Ty% (B) In Small Intestine (£=704
(C) In Stomach (e (D) In Mouth (=
(6) Blood groups were discovered by: :.i.:_ﬁ;);._uu#;/ Ly? (6)
(A) Land Steiner &4/  (B) Thomson Lo~  (C) Morgan iy/or (D) Fleming & ¥
(7)  The major component of human body is: e ‘ZL-.-’K()' dui (1)
(A) Light &» (B) Air 1 (C) Water 3, (D) None of these o}/ tus
(8) The gland which controls involuntary action is: =§.-’-“f S AN $o1st F 20k (8)
(A) Pitvitary Gland /% (B)Pancreas A%  (C)Adrenal Gland 5.4 (D) Thyroid Gland 816
(9) The deficiency of Vitamin A causes the disease of: e e f i/t (9)
(A) Rickets (B) Night-Blindness (1ot (C) Scurvy $oF (D) Cancer A"
(10) The name of Aids virus is: el ALk (10)
(AYHBYV g8 BYHAV G- 8 (OHLV 018 (D) H.O.V sl
(11) Polio virus affects the system of the body. b A7l L undy )
(A)Nervous ¢  (B) Digestive Lrlet (C) Blood Circulatory Lyg#yus (D) Reproductive (S4/7
(12) The name of Hepatitis ‘A’ virus is: :grb‘b’u’}rsﬁ (Al b (12)
(A)HLV .78 (B)HAV (rct§  (COHON Gn bl D)HB.Y §-d-&
(13) Atmosphere consists of layers: :.;._rmf"/ LU A (13)
(A) Two » (B) Three ¢ (C) Four (D) Five &,
(14) The average annual population growth rate in Pakistan is: e ST Shes W ST LA (14)
(A) 2.6% (B)2.7% (C) 2.8% (D) 0.6%
(15) Major cause of depletion of ozone gas layer is: @q:di&f*_b”u(.? Lﬁﬁf was (15)

(A) Oxygen u”l T (B)Hydrogen 2.4,  (C) Chlorofluorocarbons #4ussn¥ (D) Hydrocarbon 26,4

43 (Ob))(% )-2018(A)- 15500  (MULTAN)
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.,

Q.No.l - / Jir
(1) he proportion of oxygen in air by volume is: :c‘_rnﬁ ;;u&.,/wuﬁ-‘? Al (1)
(A) 20% (B) 21% (C) 22% (D) 23%
(2) Fats are digested: . :wd‘_nﬁ"‘u""-’. (2)
(A) In Large Intestine (2=T($% (B) In Small Intestine JtesT(s2
(C) In Stomach (Zsu (D) In Mouth =
(3) Blood groups were discovered by: & L S Eyé (3)
(A) Land Steiner & #42  (B) Thomson Ly~ ¢  (C) Morgan &/ o» (D) Fleming & &8
(4) The major component of human body is: :-7_3212:_.,«(()- U @)
(A) Light & » (B) Air 1x (C) Water 3. (D) None of these 7(/= £
(5) The gland which controls involuntary action is: i b SUs Ao 2 220 (5)
(A) Pititary Gland %¥$/% (B)Pancreas 4%  (C) Adrenal Gland £f.4 (D) Thyroid Gland 45,
(6) The deficiency of Vitamin A causes the disease of* =‘43xdxb¢-JJ¢-Ic/e: (6)
(A) Rickets ™. (B) Night-Blindness (#4u4est  (C) Scurvy $rF (D) Cancer &~
(7) The name of Aids virus is: e b LA (7)
(A)HBV 3-8 (B)YHAV (ctf (COHLV $J1-8 (D)HOV §olEl
(8) Polio virus affects the system of the body. et SNl LUy (8)
(A) Nervous ¢  (B) Digestive Zple#t  (C) Blood Circulatory Lysuss (D) Reproductive ($4/7
(9) The name of Hepatitis ‘A’ virus is: e UL (Wi Z s (9)
(AYHLY §.01.8 B)HAYV il (CHOV s (D)HB.V gl
(10) Atmosphere consists of layers: :.;.my LU 2 (10)
(A) Two » (B) Three of (C) Four U (D) Five &,
(I1) The average annual population growth rate in Pakistan is: e I }Lrsl.:umfdﬂ:*'%dt‘% (1
(A)2.6% (B) 2.7% (C) 2.8% (D) 0.6%
(12) Major cause of depletion of ozone gas layer is: :q...._-a-:ko{ﬁFJ.f i uf wais (12)
(A) Oxygen f’ff (B) Hydrogen ¢?s%,  (C) Chlorofluorocarbons 74w (D) Hydrocarbon I e
(13) Considered to be the first expert of laws of Reflection :.:.rtggf;r‘";,tug«;mflf&ﬂjﬂmrg;ﬂ; Cis)
and Refraction: ;
(A) Al-Bairuni §s#1  (B) Ibn-ul-Haitham (i (C) Bu-Ali Sina tx(¥4 (D) Dr. Abdus-Salam (s /7
(14) In Geography different partsof  are _{_Ji?JdkhjljJu;wﬁL ELM 2 (18)
marked geographically.
(A) Earth ¢ (B) Agriculture =s1.; (C) Sun Z» (D) Medicine i
(15) The content of Magnesium in plants vary from: :.f_.Jmu‘i'd/ et Juny (15)
(A)0.2 10 0.4% (B) 0.1 to 0.4% (©)0.01 to 0.4% (D) 0.3 t0 0.4%
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Notet You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 =1 /:‘Ulr

(1) Blood groups were discovered by: 13-4.{-:-3&”%’; Los (D
(A) Land Steiner &z  (B) Thomson L¢”¥  (C) Morgan &o/s (D) Fleming L6

(2) The major component of human body is: e o K(% g @
(A) Light & (B) Air 1 (C) Water (i (D) None of these (/= vt

(3) The gland which controls involuntary action is: et SUs AUl 2 2 3

(A) Pituitary Gland 24/% (B)Pancreas A%  (C) Adrenal Gland x#54 (D) Thyroid Gland 1546

(4) The deficiency of Vitamin A causes the disease of: e Qe feit @
(A)Rickets 7 (B)Night-Blindness (#%uce#t (C)Scurvy $F (D) Cancer &

(5) The name of Aids virus is: iU ML ()

(A)HBYV $-d& (BYHAV $-f (QHLV -8 (D) HOV -8

(6) Polio virus affects the system of the body. et 4rﬁ57_____'£1ﬂ vy (6)
(A)Nervous ° (B) Digestive Z¢lz#  (C) Blood Circulatory Luses (D) Reproductive (47

(7) The name of Hepatitis *A’ virus is: e UL WeiuFty

(AVHLY 7 BYHAV Gl f (COHOV Guib (D)HB.V §-d-&!

(8) Atmosphere consists of layers: ‘?—""”Vpb 4‘-}’? kv & (8)
(A) Two » (B) Three o (C) Four 4 (D) Five &4

(9) The average annual population growth rate in Pakistan is: e AL phest 2 SonTieet )
(A) 2.6% (B) 2.7% (C) 2.8% (D) 0.6%

(10) Major cause of depletion of ozone gas layer is: PR P o Sufosm (10

(A) Oxygen 7T (B)Hydrogen ¢?»%,  (C) Chlorofluorocarbons #Mub¥ (D) Hydrocarbon ¢4
(1 Considered to be the first expert of laws of Reflection : ‘T-'“F&f""j kb9 ﬁd"‘g A ,,;J-ﬁ, (11)

and Refraction:
(A) Al-Bairuni $»#¢ (B) Ibn-ul-Haitham A~z (C) Bu-Ali Sina te¥y (D) Dr. Abdus-Salam rw%”’ﬁ

(12) In Geography different parts of are _ ?'J‘?Jd et S S i L L0z 12)
marked geographically.
(A) Barth 2 (B) Agriculture =#1. (C) Sun fur (D) Medicine 15
(13) The content of Magnesium in plants vary from: h;—J”J'*“"J(?? iung (13)
(A) 0.2 t0 0.4% (B) 0.1 to 0.4% (C) 0.01 t0 0.4% (D) 0.3 to 0.4%
(14) The proportion of oxygen in air by volume is: T s A Tt (1)
(A) 20% (B)21% (C) 22% (D) 23%
(15) Fats are digested: :ng.nf"‘ﬂ (15)
(A) In Large Intestine 5% (B) In Small Intestine (£=T0
(C) In Stomach 25+ (D) In Mouth (2.
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 LAy
(1) The gland which controls involuntary action is: i b s Ao £ 2k (1)
(A) Pituitary Gland 1#5/% (B)Pancreas A%  (C) Adrenal Gland %4 (D) Thyroid Gland 4%,
(2) The deficiency of Vitamin A causes the disease of: hf-tjrfdxk‘:c-d{tfaldfh (2)
(A)Rickets o, (B) Night-Blindness (%424 (C) Seurvy $f (D) Cancer %
(3) The name of Aids virus is: et Ll (3)
(A)HBY $d&  BYHAV .o § (OHLV $.07.8 (D)HOV (il
(4) Polio virus affects the system of the body. et SN0 LUty @)
(A) Nervous &  (B) Digestive Lrlat (C) Blood Circulatory Zw#uis (D) Reproductive (47
(5) The name of Hepatitis ‘A’ virus is: e P L Al ths (5)
(A)H.LV ¢ 41-8 B)HAV et fl  (C)HOV §sl-bl (D)YH.B.V §:-4-&
(6) Atmosphere consists of layers: :;.md-’“’ LU 7 (6)
(A) Two » (B) Three ¢ (C) Four (D) Five &\
(7) The average annual population growth rate in Pakistan is: e SIg Pl 2SS L el (0
(A) 2.6% (B) 2.7% (C) 2.8% (D) 0.6%
(8) Major cause of depletion of ozone gas layer is: :q..;sdszFJ 24 Ao (8)
(A) Oxygen Jf’ 7 (B)Hydrogen (7.4, (C) Chlorofluorocarbons Fiubst (D) Hydrocarbon ¢x.6.%
9 gr?dni'ig?rraeg it)on‘:be the first expert of laws of Reflection e bl AU L SR ”,J/Q‘.’-J (9)
(A) Al-Bairuni (2! (B) Ibn-ul-Haitham ﬁ.‘f“locl (C) Bu-Ali Sina s (D) Dr. Abdus-Salam (M;f}fli
(10) In Geography different parts of are cedeSsa S L L0 2 Qo)
marked geographically. C -
(A) Earth 2 (B) Agriculture =si; (C) Sun g (D) Medicine 15
(11) The content of Magnesium in plants vary from: :.f_&ﬂﬂﬁ*J o Uy (11)
(A) 0.2 10 0.4% (B) 0.1 to 0.4% (€)0.01 to 0.4% (D) 0.3 to 0.4%
(12) The proportion of oxygen in air by volume is: :.;‘-_L":rﬁ J;lsE__/I:?Kuf-JT s (12)
(A) 20% (B) 21% (C) 22% (D) 23%
(13) Fats are digested: nf= (13)
(A) In Large Intestine s=/7¢% (B) In Small Intestine SeT0E
(C) In Stomach (s (D) In Mouth (=
(14) Blood groups were discovered by: & LS LyF (18)
(A) Land Steiner &%  (B) Thomson Lg%  (C) Morgan &/ o» (D) Fleming & fc*
(15) The major component of human body is: Y U:f'—-.-’b?)‘ QUi (15)
(A) Light Fu (B) Air 1x (C) Water d!; (D) None of these ety
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